SPARE PARTS LIST

MODEL NO. 9528NB

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 266173-1 Onmetszo csavar M5x30 4
002 415491-6 Sapka 9521NB/9522NB/9227CB 1
003 233072-2 Nyomorug6 8 9541/9542/9227C* 1
004 256437-1 Csapszeg 4 9521NB/9522NB* 1
005 961002-0 Seeger-gyuru S-6 961002-0 1
006 226748-8 #Kupfogaskerék 10 6525NB 1
007 211088-7 Golyéscsapagy 6000DDW 211088-7 1
008 316807-7 Fogaskerékhaz-fedél 9527NB* 1
009 241891-2 FAN 57 1
010 415971-2 Légterelo lap 9527NB* 1
011 517308-0 Forgdrész 220V 9527NB/9528NB,* 1

INC. 9,12,13
012 681638-6 Szigetelo alatét 9524NB
013 211012-0 Golybscsapagy 606Z2Z*
014 521628-6 Allérész 220/240V 9527NB/9528N

015 266007-8 Onmetszo csavar M3x10
016 266034-5 Onmetszo csavar M4x16*
017  415952-6 Kapcsolégomb 9524NB*
018 858487-8 NAME PLATE 9528NB
019 417352-6 Kapcsol6 kar*

020 159866-6 Motorhaz, komplett 9524NB*

021 682502-4 Kabelvédo 8-85*

022  233285-5 #Kompresszi6 gyuru*

023 666066-6 POWER SUPPLY CORD 1.0-2-2.5
024  415955-0 Motorhaz héatsé burkolata 9524N

025 265995-6 Onmetszo csavar M4x18*

026 654532-5 Csatlakozésav 1P 654532-5*

027 687063-9 Kéabel-fesziiltségmentesito 6870
028 265995-6 Onmetszo csavar M4x18*

029 651403-7 Kapcsolé ST115A-31 9501N/BOSS*

030 191940-4 Szénkefe CB-411*

031 643928-5 Szénkefetart6-sapka 9524NB/695
032 819063-3 MAKITA cimke*

033 224554-5 Biztositbanya 14-45, 45 mm (0]
034  224415-9 Belso illesztoperem

035 152522-7 Tengely, komplett 9524NB
036 125097-9 Tarcsavédo burkolat 125 mm, ko
INC. 37

R RRPRPRPNRRPRNRPREPNRRRRRRRRINNERERER

037 251391-4 Trapézfeju csavar M5x16 1
038 316800-1 Csapéagyhaz 9524NB* 1
039 211129-9 Golyéscsapagy 6201DDW 211129-9 1
040 962151-6 Seeger-gyuru R-32 962151-6* 1
041 226749-6 #Tanyérkerék 36, 1
042  159874-7 #Fogaskerékhaz 9527NB 1
043 645147-9 Kondenzator 1
AO1 153489-2 GRIP 36 COMPLETE 1
AO02 782407-9 LOCK NUT WRENCH 35 1
AO03 P-45761 Diamond Wheel 125mm seg/dry 1
BO1 183915-7 SPIRAL BEVEL GEAR SET new 1
INC. 6,41
EO4 183981-4 STEEL CARRYING CASE new 1




SERVICE DRAWING

PAGE 1

MODEL NO. 9528NB

ol

. W- s
Paoug)>ss

y— o 0
< <t ™ ™




